Parts List .«..x:

AC254H 222286 Ay My4T- 735L 1/0 56 M6
AC254H-DX 236558 AnY741- 870L I/0O 44 M6
AC254HL-DX 237435 AnJk4¥- 400L I/0 44 M6

EPARIEIN
A S— ¥ ¥ ¥ ]
Model: AC254H-DX 18— Zk3—K 524058
AC254HL-DX

BIGMU ..



HaTRODITERIZDINT

1. BHOTEXDEIE

wiEZ (BX) - BRES - BmLH - MEFHEZSL,

INTEATAE (LRI R D liE FRE S RBZEL,

(I d THILMES M Z2SEAESLY,
AERRITEBELEZIDEHYET,
ABERIIBERDAFEKERTIIELHYFET,

Fig. DFRRIZDUNT

AFRAMR=DIZFig XX SRERXRTLTHYET, ZD XX [FAFARMN—
ELEORHLEBESERLET,

o 0 & 0N

=Py s
AC254H-DX
R R e ee e ee e 1~4
AC254HL-DX
p 2 N SO 5~ 8

AC254H-DX/AC254HL-DX T2 (GX25T SJT)






1. AC254H-DX
x &




A:AC254H-DX, B:AC254HL-DX

*
RHES (maEs 2B A‘MB i mx
1-1 364489 | AC254H-DX 1
1-2 092552 | 6 h9if ILF (+)SW 4 M6X20
1-3 222705 | 979Fh—A9347 1 4~ 127494
1-4 214592 | ATV H-R 1
1-5 214161 | A 7YY 2 #6000ZZ
1-6 054676 | C h'4hA7 1 H26
1-7 214162 | K'Yy’ A 1
1-8 214163 | AHIH h'% 1
1-9 092033 | A%y (H)SW 4 M5X15
1-10 214593 | H4hurhty 1
1-11 222706 | 979FFNFLTRA 1
1-12 014210 | Ch'4bAD 1 S10
1-13 092550 | 6 A%FK Wb (+)SW 1 M5X25-7T
1-14 215657 | TUNTYY 1
1-15 223132 | H4hUThH 1
1-16 236345 | 1V7T 1
1-17 226918 | AN IVEM)IZ 1 18 ~ 20 79 4
1-18 226988 | TAIRY (+) 1 M5X18
1-19 012487 | E3%° 1'% 1 M5
1-20 126993 | 6 h9+b 1 M5
1-21 228446 | NUNIWMNYEHTY 38T 1 22 7914
1-22 092561 | 6 h9F ILF (+)SW 6 M5X25
1-23 227457 | ¥ Yh-R9347 1 24 ~ 30 794
1-24 234109 | 6 AHK Lk 1 M8X8
1-25 092550 | 6 h9if ILE (+)SW 1 M5X25-7T
1-26 212986 | NEJiRRA A 1
1-27 219195 | NE/FAB 1
1-28 215610 | 6 HYH b WSW 1 M8X22 t4)
1-29 222128 | IXVF R IYNY 1
1-30 222129 | AL VRV 1 5X20
1-31 089737 | 6 hHik Lk 1 M5X12
1-32 237430 | #—L7°L—b 1 AC254H-DX
1-33 220549 | F194v-) 1
1-34 236357 | nUNIL A ThA 1 E4)
1-35 236358 | nUNIL B ThA 1 £
1-36 236356 | ML =934T (19) 1 860L
1-37 236111 | 37" 1 a9 - 7439
1-38 236558 | ARYMLIAY 1
1-39 234527 | AV —bF1-7 1 700L
1-40 220533 | hahhrWub 4347 1
1-41 234761 | Y AAVAN =934T 1 42 ~ 44 791
1-42 210413 | #¥Thty 1
1-43 210313 | AN =Y 2950ty 1
1-44 092555 | 6 h%F Wb (+)SW 2 M6X30
1-45 127218 | 6 h9+b 2 M6




1. AC254H-DX
x &




A:AC254H-DX, B:AC254HL-DX
2
BHES gaEe HEAT A‘MB Hif Bz
1-46 092578 6 i Lk (+)SW 1 M5X10
1-47 222290 | 7—AtY 1
1-48 224693 | FY7°Y—- 10 1




2. AC254HL-DX

K




A:AC254H-DX, B:AC254HL-DX

*
RHES (maEs 2B A‘MB i mx

2-1 364490 | AC254HL-DX 1
2-2 092552 | 6 h4& Wb (+)SW 4 M6X20
2-3 222705 | H3YFr—AH938T 1 4~1279L
2-4 214592 | ATYUY —R 1
2-5 214161 | A 7YYy 2 #6000ZZ
2-6 054676 | C h4bAD 1 H26
2-7 214162 | K'9Yv3' A 1
2-8 214163 | AHIH H'% 1
2-9 092033 | FAI%Y (H)SW 4 M5X15
2-10 214593 | H'4huhhty 1

-11 222706 | 97YFF LA 1

-12 014210 | CH'4k4D 1 S10
2-13 092550 | 6 A%F Wb (+)SW 1 M5X25-7T
2-14 215657 | TUNDYY 1
2-15 223132 | H4hUThH 1
2-16 211736 | kv494=%") B 1
2-17 211737 | N'UN 2
2-18 235783 | MJA'LIN—434T (24) 1
2-19 236111 | 3A°) 1 a7 - 74349
2-20 237435 | ARYMLIA Y 1
2-21 213548 | ALy —+F1-7" 1 3k’ 10 200L
2-22 226928 | AN IVEMZ 1 23 ~ 25794
2-23 226988 | TAI%Y (+) 1 M5X18
2-24 012487 | 5% 1'% 1 M5
2-25 126993 | 6 h9+ b 1 M5
2-26 227457 | ¥ ¥h—-RH34T 1 27 ~ 33794
2-27 234109 | 6 AHK Lk 1 M8X8
2-28 092550 | 6 A%& Wb (+)SW 1 M5X25-7T
2-29 212986 | NE/JRRA 1
2-30 219195 | NE/KWAB 1
2-31 215610 | 6 hYk Lk WSW 1 M8X22 t4")
2-32 222128 | ¥¥YERIINY 1
2-33 222129 | 49t VY 1 5X20
2-34 089737 | 6 hHik Lk 1 M5X12
2-35 237436 | #—L7°L—b 1 AC254HL-DX
2-36 220549 | F194v—) 1
2-37 222059 | K IVUL=7 NINVIZET 1 38,39 74L
2-38 126993 | 6 h9F+ b 4 M5
2-39 222142 | T3V (W)W 4 M5X28
2-40 220533 | hahh W UN 934T 1
2-41 234761 | ¥ AYAVAN =934T 1 42 ~ 44 791
2-42 210413 | #¥ThTYy 1
2-43 210313 | A=A 0ty 1
2-44 092555 | 6 hHi Ik (+)SW 2 M6X30
2-45 127218 | 6 h9+Ub 2 M6




2. AC254HL-DX

K




A:AC254H-DX, B:AC254HL-DX

2
BHES BRES 22 A‘MB i e
2-46 092578 | 6 h4i L (+)SW M5X10
2-47 222290 | 7-AtYy
2-48 224693 | FY7°Y—- 10




3. AC254H-DX, AC254HL-DX
/&




A:AC254H-DX, B:AC254HL-DX

HmEEe HEAT B | 5 Bz

221460 | w3 A%
220534 | HYnhn'—

222400 | AVERWIAANT 13X16X(+) N34

—_ = -
—_ 1 - -

022865 | YAYFANT 8X10

210181 | Lin=nub b

237431 | MJ7Yh4EY A3 1 1 AC254H/354H-DX
225938 | M)7YRMtE VA3 1 1 VY'Y GX25

-10 -



22 LU EThH
B EFRHERED
Ay FE—- bt s2—: EE 0120-898-114
ZFIFIEHRY: AN9:00~PN5:00(+. B.#1H %% <)

Printed in japan 2015-04.J

EHENEETY



